5cm ; Tcm Tcm
) g
S| 050 Qp— 0]
T 3
E 1S
Dachneigung 33,7° = |
(@]
(= = .
g\ﬂ—l—ga; 2.3 +0,50
+ 1tm [f
= J7 +1,50 = S
~ el e =
N c -1,00 S T g = T
o g L )
5 +1,50 +0,50
8 AuHenmuBe\x e £ s
v 13/12cm A\ =+ = S
™M @)
L l+1,00
. Scm—— k- 2cm —k Scm
’ 8cm Lcm — 2Cm
1 +0.00 30¢
+0,00 % 30° = | +1,00 30" |t
LN LN
8 < — 8
5 + R
= I AuBenmaBe o
=8 14/ 11cm 2
o -+
+I =
0,00 30° 10,00 30°
i v 10,00 § 30
= S >
7 S
~ |8
| F %
LA 20
— 0 30‘ A
Icm Lem [1.5cm] 2cm |1.5cm| Lem
Erstellt mit einerSchulvérsion von Allplan 1 1

AHA Zimmerer 502 26. 3. 10



